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MT 118, Quiz #5S, Fall 2019 Name J< 6\(

Instructions: Show all work. Partial credit can only be given where work is shown. Be sure to answer all
parts of each question. You may not use a calculator on this quiz.

1. Indetermining an evacuation zone, a scientist must estimate the distance that lava from an
erupting volcano will flow. Should she overestimate or underestimate? Explain.
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2. Find arange estimate for 1349 x 45.
|200%40 = 2, 000
)L'[C‘O XS0 = ?O;Q‘OO

3. Use the Russian peasant algorithm to find the product 01)44 X 83.

B

‘41?**”"""% 244 332 + L6t + 2056 = 3,52

5 x Gl Cluck © 44Y 83= 3652
N e
I X 2450

4. Use a number line, and the repeated subtraction approach to find the dividend and remainder

of 4250pen + Sseven: = (936’.{.;

e———i-——@‘i‘“éw .51 95\_

ERT RTINS S
0 1234 S 60ioN1Z1dH 3 I 2021&1&59%%%3




